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Pressure =

No, 𝑖𝑓 𝑐𝑙𝑜𝑠𝑒𝑠𝑡 𝑑𝑒𝑓𝑒𝑛𝑑𝑒𝑟 𝑑𝑖𝑠𝑡𝑎𝑛𝑐𝑒 = 6 + 𝑓𝑡. (1.8 + 𝑚)
Low, 𝑖𝑓 𝑐𝑙𝑜𝑠𝑒𝑠𝑡 𝑑𝑒𝑓𝑒𝑛𝑑𝑒𝑟 𝑑𝑖𝑠𝑡𝑎𝑛𝑐𝑒 = 4 − 6 𝑓𝑡. (1.2 − 1.8 𝑚)

𝑀𝑜𝑑𝑒𝑟𝑎𝑡𝑒, 𝑖𝑓 𝑐𝑙𝑜𝑠𝑒𝑠𝑡 𝑑𝑒𝑓𝑒𝑛𝑑𝑒𝑟 𝑑𝑖𝑠𝑡𝑎𝑛𝑐𝑒 = 2 − 4 𝑓𝑡. (0.6 − 1.2 𝑚)
High, 𝑖𝑓 𝑐𝑙𝑜𝑠𝑒𝑠𝑡 𝑑𝑒𝑓𝑒𝑛𝑑𝑒𝑟 𝑑𝑖𝑠𝑡𝑎𝑛𝑐𝑒 = 0 − 2 𝑓𝑡. (0 − 0.6 𝑚)

Intensity =  

Open, 𝑖𝑓 𝑐𝑙𝑜𝑠𝑒𝑠𝑡 𝑑𝑒𝑓𝑒𝑛𝑑𝑒𝑟 𝑑𝑖𝑠𝑡𝑎𝑛𝑐𝑒 ≥ 5 𝑓𝑡. (1.5 𝑚)
Guarded, 𝑖𝑓 3 < 𝑐𝑙𝑜𝑠𝑒𝑠𝑡 𝑑𝑒𝑓𝑒𝑛𝑑𝑒𝑟 𝑑𝑖𝑠𝑡𝑎𝑛𝑐𝑒 < 5 𝑓𝑡. (1.5 𝑚)
𝐶𝑜𝑛𝑡𝑒𝑠𝑡𝑒𝑑, 𝑖𝑓 𝑐𝑙𝑜𝑠𝑒𝑠𝑡 𝑑𝑒𝑓𝑒𝑛𝑑𝑒𝑟 𝑑𝑖𝑠𝑡𝑎𝑛𝑐𝑒 ≤ 3 𝑓𝑡. (0.9 𝑚)



Period status =  

𝐶𝑙𝑜𝑠𝑒, 𝑖𝑓 𝑞𝑢𝑎𝑟𝑡𝑒𝑟 𝑚𝑎𝑟𝑔𝑖𝑛 ≤ 8

𝐵𝑎𝑙𝑎𝑛𝑐𝑒𝑑, 𝑖𝑓 9 ≤ 𝑞𝑢𝑎𝑟𝑡𝑒𝑟 𝑚𝑎𝑟𝑔𝑖𝑛 ≤ 17

𝑈𝑛𝑏𝑎𝑙𝑎𝑛𝑐𝑒𝑑, 𝑖𝑓 𝑞𝑢𝑎𝑟𝑡𝑒𝑟 𝑚𝑎𝑟𝑔𝑖𝑛 ≥ 18

= 

𝐻𝑖𝑔ℎ 𝐴𝑑𝑣𝑎𝑛𝑡𝑎𝑔𝑒, 𝑖𝑓 𝑞𝑢𝑎𝑟𝑡𝑒𝑟 𝑚𝑎𝑟𝑔𝑖𝑛 ≥ 21
𝑀𝑜𝑑𝑒𝑟𝑎𝑡𝑒 𝐴𝑑𝑣𝑎𝑛𝑡𝑎𝑔𝑒, 𝑖𝑓 11 ≤ 𝑞𝑢𝑎𝑟𝑡𝑒𝑟 𝑚𝑎𝑟𝑔𝑖𝑛 < 21

𝐿𝑜𝑤 𝐴𝑑𝑣𝑎𝑛𝑡𝑎𝑔𝑒, 𝑖𝑓 3 ≤ 𝑞𝑢𝑎𝑟𝑡𝑒𝑟 𝑚𝑎𝑟𝑔𝑖𝑛 < 11
𝐵𝑎𝑙𝑎𝑛𝑐𝑒𝑑, 𝑖𝑓 − 5 ≤ 𝑞𝑢𝑎𝑟𝑡𝑒𝑟 𝑚𝑎𝑟𝑔𝑖𝑛 ≤ 2

𝐿𝑜𝑤 𝐷𝑖𝑠𝑎𝑑𝑣𝑎𝑛𝑡𝑎𝑔𝑒, 𝑖𝑓 − 5 ≤ 𝑞𝑢𝑎𝑟𝑡𝑒𝑟 𝑚𝑎𝑟𝑔𝑖𝑛 < −13

𝑀𝑜𝑑𝑒𝑟𝑎𝑡𝑒 𝐷𝑖𝑠𝑎𝑑𝑣𝑎𝑛𝑡𝑎𝑔𝑒, 𝑖𝑓 − 13 ≤ 𝑞𝑢𝑎𝑟𝑡𝑒𝑟 𝑚𝑎𝑟𝑔𝑖𝑛 < −24
𝐻𝑖𝑔ℎ 𝐷𝑖𝑠𝑎𝑑𝑣𝑎𝑛𝑡𝑎𝑔𝑒, 𝑖𝑓 𝑞𝑢𝑎𝑟𝑡𝑒𝑟 𝑚𝑎𝑟𝑔𝑖𝑛 ≥ −24

Shot tension 
(quarterly) 



mins

Possession 
Type 

= 

𝐿𝑎𝑡𝑒, 𝑖𝑓 0 ≤ 𝑠ℎ𝑜𝑡 𝑐𝑙𝑜𝑐𝑘 < 5
𝑆𝑡𝑟𝑢𝑐𝑡𝑢𝑟𝑒𝑑, 𝑖𝑓 5 ≤ 𝑠ℎ𝑜𝑡 𝑐𝑙𝑜𝑐𝑘 < 10
𝐸𝑎𝑟𝑙𝑦, 𝑖𝑓 10 ≤ 𝑠ℎ𝑜𝑡 𝑐𝑙𝑜𝑐𝑘 < 15
𝑄𝑢𝑖𝑐𝑘, 𝑖𝑓 15 ≤ 𝑠ℎ𝑜𝑡 𝑐𝑙𝑜𝑐𝑘 < 20
𝐻𝑎𝑠𝑡𝑦, 𝑖𝑓 𝑠ℎ𝑜𝑡 𝑐𝑙𝑜𝑐𝑘 ≥ 20

















≤5 ft. 5-9 ft. 10-14 ft. 15-19 ft. 20-24 ft. 25-29 ft. 29+ ft.

(≤1.5 m) (1.5-3 m) (3-4.5 m) (4.5-6 m) (6-7.5 m) (7.5-9 m) (9+ m)

Shooting Range



5 (1.5m) 10 (3m) 15 (4.5m) 20 (6m)





Seconds left on shot clock













𝑂𝑝𝑝𝑜𝑛𝑒𝑛𝑡 𝑓𝑖𝑒𝑙𝑑 𝑔𝑜𝑎𝑙 𝑝𝑒𝑟𝑐𝑒𝑛𝑡𝑎𝑔𝑒 =
𝑆ℎ𝑜𝑡𝑠 𝑚𝑎𝑑𝑒 𝑎𝑔𝑎𝑖𝑛𝑠𝑡 𝑑𝑒𝑓𝑒𝑛𝑑𝑒𝑟

𝑆ℎ𝑜𝑡𝑠 𝑎𝑡𝑡𝑒𝑚𝑝𝑡𝑒𝑑 𝑎𝑔𝑎𝑖𝑛𝑠𝑡 𝑑𝑒𝑓𝑒𝑛𝑑𝑒𝑟

𝑂𝑝𝑝𝑜𝑛𝑒𝑛𝑡 𝑝𝑜𝑖𝑛𝑡𝑠 𝑝𝑒𝑟 𝑝𝑜𝑠𝑠𝑒𝑠𝑠𝑖𝑜𝑛 =
𝑃𝑜𝑖𝑛𝑡𝑠 𝑝𝑒𝑟 𝑠ℎ𝑜𝑡 𝑎𝑔𝑎𝑖𝑛𝑠𝑡 𝑑𝑒𝑓𝑒𝑛𝑑𝑒𝑟

𝑆ℎ𝑜𝑡𝑠 𝑎𝑡𝑡𝑒𝑚𝑝𝑡𝑒𝑑 𝑎𝑔𝑎𝑖𝑛𝑠𝑡 𝑑𝑒𝑓𝑒𝑛𝑑𝑒𝑟

𝐴𝑣𝑒𝑟𝑎𝑔𝑒 𝑑𝑒𝑓𝑒𝑛𝑑𝑒𝑟𝑠′ 𝑑𝑖𝑠𝑡𝑎𝑛𝑐𝑒 =
𝐷𝑒𝑓𝑒𝑛𝑑𝑒𝑟 𝑑𝑖𝑠𝑡𝑎𝑛𝑐𝑒

𝑆ℎ𝑜𝑡𝑠 𝑎𝑡𝑡𝑒𝑚𝑝𝑡𝑒𝑑 𝑎𝑔𝑎𝑖𝑛𝑠𝑡 𝑑𝑒𝑓𝑒𝑛𝑑𝑒𝑟

𝑁𝑢𝑚𝑏𝑒𝑟 𝑜𝑓 𝑠ℎ𝑜𝑡𝑠 𝑐𝑜𝑛𝑡𝑒𝑠𝑡𝑒𝑑 = 𝑇𝑜𝑡𝑎𝑙 𝑠hots attempted ≤ 3.5 ft. 1m away from defender

𝐴𝑣𝑒𝑟𝑎𝑔𝑒 𝑠ℎ𝑜𝑜𝑡𝑖𝑛𝑔 𝑑𝑖𝑠𝑡𝑎𝑛𝑐𝑒 =
𝑆ℎ𝑜𝑡 𝑑𝑖𝑠𝑡𝑎𝑛𝑐𝑒

𝑆ℎ𝑜𝑡𝑠 𝑎𝑡𝑡𝑒𝑚𝑝𝑡𝑒𝑑 𝑎𝑔𝑎𝑖𝑛𝑠𝑡 𝑑𝑒𝑓𝑒𝑛𝑑𝑒𝑟

𝑇𝑜𝑡𝑎𝑙 𝑛𝑢𝑚𝑏𝑒𝑟 𝑜𝑓 𝑠ℎ𝑜𝑡𝑠 𝑐𝑙𝑜𝑠𝑒𝑙𝑦 𝑔𝑢𝑎𝑟𝑑𝑒𝑑 = 𝑆ℎ𝑜𝑡𝑠 𝑎𝑡𝑡𝑒𝑚𝑝𝑡𝑒𝑑 𝑎𝑔𝑎𝑖𝑛𝑠𝑡 𝑑𝑒𝑓𝑒𝑛𝑑𝑒𝑟







8 (2.4m) 10 (3m) 12 (3.6m) 14 (4.2m) 16 (4.8m) 3.3 (1m) 3.6 (1.1m) 3.9 (1.2m) 4.2 (1.3m) 4.5 (1.4m)





46.6%













70% 15% 15%

55%

Predicted

FALSE TRUE

Actual
FALSE True Negative (TN) False Positive (FP)

TRUE False Negative (FN) True Positive (TP)

Accuracy = 
𝑇𝑃+𝑇𝑁

𝑇𝑃+𝑇𝑁+𝐹𝑃+𝐹𝑁
Precision = 

TP

TP + FP

Recall = 
TP

TP + FN
F1 = 2 ∙

precision ∙ recall

precistion+recall



















“





72.1%62.9%

68.3%62.7%

78.7%65.3%













Books & Articles: Data Sources:



Thank you for your attention!

Any

Questions?


